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QUESTION 1

Which three statements are true about an spfile? (Choose three)

A. It contains only static initialization parameters.

B. It is the first file processed at instance startup.

C. It can be edited by SYS when the database instance is shut down.

D. It must exist for a database instance to start.

E. It can be used to create a pfile.

F. It contains initialization parameters whose values can be changed using the ALTER SYSTEM command.
Correct Answer: DEF

Reference: https://oracle-base.com/articles/9i/persistent-initialization-parameters

QUESTION 2

Examine this command:

CREATE TEMPORARY TABLESPACE temp thbs
TEMPFILE ‘temp0l.dbf’ SIZE 10M

AUTCEXTEND ONMN
ONLINE
SEGMENT MANAGEMENT AUTO;
Which two changes must you make so that TEMP_TBS is created? (Choose two.)
A. Add the EXTENT MANAGEMENT LOCAL UNIFORM clause.
B. Add the NOLOGGING clause.
C. Remove the SEGMENT MANAGEMENT AUTO clause.
D. Remove the AUTOEXTEND ON clause.
E. Remove the ONLINE clause.
F. Add MAXSIZE for the AUTOEXTEND ON clause.

Correct Answer: AF

Reference: https://asktom.oracle.com/pls/asktom/f?p=100:11:::::P11_QUESTION_ID:374218170986
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QUESTION 3

You want to use table compression suitable for OLTP that will:
1.

Compress rows for all DML statements on that table

2.

Minimize the overheads associated with compression.
Which compression option is best suited for this?

A. COLUMN STORE COMPRESS FOR ARCHIVE HIGH
B. ROW STORE COMPRESS ADVANCED

C. COLUMN STORE COMPRESS FOR ARCHIVE LOW
D. ROW STORE COMPRESS BASIC

E. COLUMN STORE COMPRESS FOR QUERY LOW
Correct Answer: B

Reference: https://www.oracle.com/technetwork/database/options/compression/advanced-
compressionwp-12c-1896128.pdf%20(6)

QUESTION 4

Which two statements are true about Oracle Data Pump? (Choose two.)

A. expdp and impdp are its client components.

B. impdp always uses conventional path inserts when importing data.

C. The DBMS_DATAPUMP package can be used only with Data Pump clients

D. It cannot be used to export data as of a previous SCN.

E. impdp can change target data file names, schemas, and tablespaces during import.
Correct Answer: AC

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14215/dp_overview.htm

QUESTION 5

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete.

You want to verify this.
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Which view reveals on what events a session has spent time waiting in the past?
A. V$SESSION_WAIT_CLASS

B. VSSYSTEM_EVENT

C. V$SESSION

D. V$SESSION_EVENT

E. VSSESSION_WAIT

Correct Answer: C

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning
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